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61. Ted always gets 8 hours of sleep a night but today woke up 2
hours earlier than usual. How many hours of sleep did he get?

62. Betsy is a dairy farmer. She usually milks 9 gallons from her
cows. Today, she has milked 6 gallons. How many fewer gallons did
she milk today?
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3. Fredrick's dog weighs 25 pounds. He was put on a diet and lost
pounds. How much does his dog weigh now?

),

Liz have left?
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65. Hunter has 20 dollars. He spends 18 dollars on a pair of
pants. How much money does he have left?

6 64. Liz has 11 rings but gives 3 to her sister. How many rings does

-

friends in school. How many invitations does she have left?
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m 66. Bridgette made 18 birthday invitations. She sent 14 to her




